
7237 - 3123 = 8967 - 4066 =

7735 - 4468 = 4737 - 3873 =

6582 - 2738 = 5465 - 3910 =

3776 - 2432 = 5735 - 2065 =

5927 - 2354 = 7657 - 4949 =

7621 - 3699 = 7928 - 4757 =

6467 - 1969 = 5351 - 1489 =

3662 - 1663 = 5621 - 2949 =

Subtraktion 
2.1
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5813 - 1585 = 4239 - 2528 =

6311 - 2930 = 3314 - 2336 =

5158 - 1200 = 5236 - 2372 =

5657 - 4198 = 5506 - 527 =

5699 - 816 = 7429 - 3411 =

6197 - 2161 = 6504 - 3219 =

9544 - 4931 = 5122 - 4450 =

5542 - 3429 = 4197 - 1411 =

Subtraktion 
2.2
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4891 - 1950 = 6621 - 2893 =

5390 - 3296 = 6892 - 2701 =

4237 - 1566 = 7619 - 2737 =

5930 - 1259 = 3390 - 893 =

3582 - 1181 = 5312 - 3776 =

5276 - 2527 = 5582 - 3584 =

4123 - 797 = 7504 - 4815 =

5816 - 4990 = 3275 - 1776 =

Subtraktion 
2.3
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7967 - 4912 = 1893 - 1355 =

3967 - 1758 = 5468 - 1163 =

7312 - 4527 = 2891 - 1199 =

7812 - 3026 = 7660 - 3854 =

7853 - 4143 = 5083 - 2238 =

3852 - 989 = 4158 - 2046 =

7198 - 3758 = 7276 - 3278 =

3198 - 2257 = 6352 - 4738 =

Subtraktion 
2.4
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3191 - 1100 = 4922 - 2043 =

3691 - 2446 = 5192 - 1851 =

2537 - 716 = 7909 - 3877 =

3709 - 2398 = 5668 - 2032 =

5860 - 2320 = 7591 - 4916 =

7554 - 3666 = 7862 - 4724 =

6401 - 1936 = 5284 - 1455 =

3595 - 1629 = 5554 - 2915 =

Subtraktion 
2.5
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5747 - 1552 = 4173 - 2495 =

6245 - 2897 = 3247 - 2302 =

5092 - 1167 = 5170 - 2339 =

5591 - 4165 = 9940 - 4994 =

5633 - 783 = 7362 - 3378 =

6131 - 2128 = 6438 - 3186 =

9477 - 4898 = 5055 - 4417 =

5476 - 3396 = 4130 - 1377 =

Subtraktion 
2.6

© Mat-nat.dk



5979 - 4744 = 3209 - 1187 =

6478 - 1590 = 3480 - 995 =

5324 - 4359 = 4207 - 1031 =

7018 - 4053 = 4477 - 3686 =

4670 - 3975 = 6399 - 2070 =

1864 - 821 = 6670 - 1878 =

5210 - 3590 = 4092 - 3109 =

6904 - 3284 = 8863 - 4570 =

Subtraktion 
2.7
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4555 - 3206 = 7481 - 4149 =

5054 - 4551 = 6555 - 3956 =

3900 - 2821 = 8478 - 3993 =

4400 - 1320 = 4248 - 2148 =

4441 - 2437 = 1671 - 532 =

4939 - 3782 = 9746 - 4840 =

3786 - 2052 = 3864 - 1572 =

4285 - 551 = 7439 - 3032 =

Subtraktion 
2.8
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3421 - 1215 = 5151 - 2158 =

3919 - 2560 = 5420 - 1965 =

2765 - 830 = 6148 - 2002 =

4460 - 524 = 6418 - 4657 =

6610 - 4945 = 3841 - 3041 =

3804 - 1791 = 4112 - 2849 =

7151 - 4561 = 6034 - 4080 =

8844 - 4254 = 1805 - 1041 =

Subtraktion 
2.9

© Mat-nat.dk



6496 - 4176 = 4922 - 620 =

2495 - 1022 = 8497 - 4927 =

5842 - 3792 = 5919 - 4963 =

6340 - 2290 = 6190 - 3119 =

6382 - 3407 = 3613 - 1503 =

6881 - 4753 = 2688 - 1311 =

5727 - 3023 = 5805 - 2542 =

6226 - 1521 = 4880 - 4002 =

Subtraktion 
2.10
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4879 - 1944 = 6610 - 2887 =

5378 - 3290 = 6880 - 2695 =

4225 - 1560 = 7607 - 2731 =

5919 - 1253 = 3378 - 887 =

3570 - 1175 = 5301 - 3771 =

5264 - 2521 = 5570 - 3578 =

4111 - 791 = 7493 - 4810 =

5805 - 4984 = 3264 - 1770 =

Subtraktion 
2.11
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7956 - 4906 = 1881 - 1349 =

3955 - 1752 = 5456 - 1157 =

7301 - 4521 = 2880 - 1194 =

7800 - 3020 = 7648 - 3848 =

7841 - 4137 = 5072 - 2233 =

3840 - 983 = 4147 - 2040 =

7186 - 3752 = 7265 - 3272 =

3186 - 2251 = 6340 - 4732 =

Subtraktion 
2.12
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